6. Bachelor in Design (B.Des.)

Part - | : Aptitude test 40 Marks 40 Questions 2 Hours
Part - Il : Personality Inventory Test 30 minutes

B.Des. being a professional course, the attributes and aptitude required are to be
tested, and the test not only serves to identify the aptitude but also serve as a guide to
know the level from where the students growth needs to be evaluated, if the students is
admitted to the course.

The candidate is required to attempt 40 questions in 2 hours time and total marks
would be 40. The weight age for admission would be 40%.

This test comprises of the following.

1) Lateral Thinking

(

(2)  Logical Thinking

(3)  Numerical Skills

(@)  Comprehension ability
(5)  General Knowledge
(6)  Perceptual skills

(i) Each question carries one mark.

(i) Answers are required to be marked only on the OMR Answer-sheet, which will be provided
Separately.

(iii) For each question, four alternative answers have been provided out of which only one is
correct.

Darken the appropriate circle in the Answer-sheet only on the best alternative amongst (a), (b), (c) or (d).

1. Four girls P, Q, R and S divide a bag of sweets. P takes 2/3 of them, Q takes 1/5th of the
remainder and the rest is equally shared between R and S. What fraction of the sweets did R and

S get?
(@ 2 (b) 2/15 (c) 15/2 (d 15
Direction (Q. Nos. 2 ) : In these questions, choose the alternative which is same in meaning to the
keyword.
2. ADVERSARY
(a) Opponent (b) colleague (c) friend (d) comrade

Direction (Q. Nos. 3 ): In these questions, choose the alternative which is opposite in meaning to
the Keyword.

3. VORACIOUS

(@) Hungry (b) content (c) insatiable (d) ravenous



Direction (Q. Nos. 4 ): Choose the exact meaning of the idioms/phrases from the given alternatives.
4. A sight for sore eyes
(@) someone you are happy to see (b) someone you are unhappy to see
(o) a ghastly sight (d) sore eye sight
Direction (Q. Nos. 5): Fill in the blank space of the sentence so that it becomes meaningful and
correct.
5.  Everyone in the class -
(@) except me got the answer (b) me got the answer
() except myself got the answer (d) none of the above
Direction (Q. Nos. 6): Choose the most appropriate word to fill the blank space in these sentences.
6. It ... a pleasant surprise to seeing him.
(a) was (b) is (c) would (d) none of these
Direction (Q. Nos. 7-10) : Read the passage carefully and answer the questions based on it.
PASSAGE
A certain hare, who was very proud of his speed as a runner, once laughed at a tortoise that
crept slowly on the ground. “You slow, old creature.” He cried, “Can’t you go any faster than
that”? “I may be slow” said the tortoise, “but I could beat you in a race”. They deiced to run for
half a mile. Off went the hare in quick leaps and bounds while the tortoise plodded along, never
stopping, never looking back. Soon the swift hare outran the tortoise to such a length that he
made a jest of the matter. “Ha, ha,” laughed the hare, as he stepped halfway to look back at the
slow tortoise. Then the hare thought, “there is no need for me to run so fast. [ will lie down and
rest.” So the hare lay down under a tree and soon fell fast asleep. He did not hear the little feet
of the tortoise come creep-creep-creeping up the place where he lay. And right past the sleeping
hare went the tortoise, slowly and steadily, never once looking behind him. Presently, the hare
awoke and started racing towards the winning post like a streak of lightning. “Here I am,” cried
a little voice from the end of the wood, ‘I'm at the winning — post and have been sitting here

waiting for you for some time.” The hare was ashamed of himself; for had be not been beaten by
the tortoise at whose slow pace he had laughed?

7.  The hare was ashamed of himself because he
(@ laughed at the tortoise
(b) underestimated the tortoise as a runner
(c) was defeated by the tortoise who could never run as fast as he

(d) none of the above

8.  Ultimately, the tortoise won the race because of its,
(@) style of running (b) being speedier than the hare
() being older than the hare (d) steadiness and hare’s pride

0. All the living beings

(@) live forever (b) always die (c) show the capacity of regeneration and a few die



10.

11.

(d) die but a few lower animals show the capacity of regeneration
Non-living things may show

(@) growth (b) reproduction (c) irritability (d none of these
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